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QUESTION 1

If you have a space-reserved, completely full 600G LUN with a volume fractional reservation of 100% and no free
space, a snapshot copy of the volume will fail. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 2

Which three FAS deduplication features were added in ONTAP 7.3? 

A. Qtree SnapMirror is supported on the destination for deduplication by enabling on the source, destination, or both
systems. 

B. The fingerprint database and the change logs that the deduplication process uses are located outside the volume, in
the aggregate. 

C. After breaking the deduplication volume destination mirror, the deduplication (a-sis) process continues uninterrupted. 

D. The deduplication schedule is not tied to a Qtree SnapMirror update, and can be configured just like the
deduplication schedule for any volume. 

E. The deduplication fingerprint and change logs were moved to the root volume /etc/dedup directory. 

Correct Answer: ABD 

 

QUESTION 3

This command will have what effect? options wafl.default_security_style mixed 

A. It will change the security style of all volumes to mixed. 

B. It will change the security style of all qtrees to mixed. 

C. It will set the security style of all files to mixed. 

D. It will set the default security style for all newly created volumes. 

Correct Answer: D 

 

QUESTION 4

What is the process that allows you to make LUNs available to some hosts and unavailable to others? 

A. LUN masking 
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B. LUN hiding 

C. LUN grouping 

D. LUN cloning 

Correct Answer: A 

 

QUESTION 5

In an iSCSI target configuration, there are two ISWT adapters. The purpose of adapter iswta is for local traffic. What is
the purpose of the iSCSI target adapter iswtb? 

A. It is used for partner traffic in a clustered Windows host environment. 

B. It is used for partner traffic in a clustered storage appliance environment. 

C. It is used for iSCSI network traffic when iswta is exceeding thresholds. 

D. It is used for iSCSI network traffic when iswta has failed. 

Correct Answer: B 
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